






















































































































































































XFEEE, FEABELRY

%)

1620

EINDEEHE L BiF - ARFE

1740

1800
1860

1680
1740

1800
1860

™o ol =3 ol Bl =2 el K= B [l =2 Bl K= el L B K -r fondl il Bl K Bl B2 = Bl B R B A B R = Y el k] —
— = =B ISr A k=21 o RO |0 |D (|0 S|V |O|= DN — womMmmiaN|lo|rd|F M|~ —~]| N (&m —— o~
— = el Bl i K-S N iVo ) RY-1 el i Bl Bl Kl ES R o — |- =}
= =28
Il Al N B2 | s1213|2( =] o R
R 2= = 23| = e EE=E] JHER
=22 k=] - =3 N[O |m ~ — e~ w A
Z|& 3 =t |88\ emEr ] f ot EHR
” 8|8 mee 8 - Eite
2TR= 7= 3|8 |xaE KEE
o & s 38| =wie - =i
S S|=|2|? = 2= SR | mmn o~ Rl
SISIE] s 121212 2|22 2|2 |seEE - RuEE
- =& ISIba b S| | Mo o O
- S| 3|3 |exe - xR
RIS S| ° o kR
= = 2|8|3 = 2B | RS = RURE
- 3 28|82 = 3|3 s ~ Ty
- = V@SSR T(== B | HEE
el (=21 Ll Bl D=2 k>0 k=] >~ m
2|2 =S8 |8 o= | EEE 4 e
v
) - olw|e= — | ;«V*
B =SS S|S|EEE 4 HEE
e = B RS] Bl = HEEE
~ g ] o] B g B RS P - g ] e ) g g g o] e ﬂ N
« F|3 SRR B |Rer e - REER
o
Y
- el e R b e B S E S TR B T B P P2 ] P & = e RRE
=
™ o|w|w o Ot~ |,,— = o P
=88 2R 5 |w=e & = H=ie
= SN RNENEEE 8|3 sage i & e
g
NI =755 =ee - R
n
24
Ll Ll Ll Llefel el LU LlLfele|e ! el Ll ClLfeefee 14 { Ll Ll !
o|lo ol|lo|le Slo|Qloooeo]|e olo|lo|o|o|e ololes|o|e =3 SRR EEREREE ololo|o|e|e =) (=3 =35 olo|o|o|e =3
Wl N|» = 67%89.0&1?.3 | B |D|=|o | ml?.add. (=] m1&234567 89Mw17.3 - < ®© | %1234 <o
— - — — — - — —

61



23
23
24
44
63
10
21
23
32
15
48
58
14
11
11
101
112
474
(1)
22
12

64(2)
74(4)

VIR ABERIER

(

2
2

~

(1)
(1)

50

2|4

2

WEE

HEE

160
1[60

IEEE

10
10

iR

10

28

(1)

FHEM X FE, FRBERGR

RHEEEFRBIEIANR

1
3

8
10

3 (6)
1600~
10~
1620
20~
30~
40~
50~
60~
70~
1680
80~
90~
1700~
10~
20~
30~
1740
40~
50~
60~
70~
80~
90~
1800
1800~
10~
20~
30~
40~
50~
1860
60~
#(7)
1600~
10~
1620
20~
30~
40~
50~
60~
1680
80~
90~
1700~
10~
20~
30~
1740
40~
50~
60~
70~
80~
90~
1800
1800~
10~
20~
30~
40~
50~
1860

60~

62




]

Mo BERE e BfF - BEE
£((8) Ak BIERBFRBIEERK (IABRAEGIEK

30 30 1

1110 3 2 1 30 (1) 18 (3)

30 1) (2) 14 (5)

Q
7
i i s
-
"

—
e ||t foo|w |
5
©

o[ e
—

1740 (1) (1)

40~ 1) (1)

1800 (2) (2)

1800~ 1 1 (2)

10~ 1 1

= o] o

20~ 1

30~

50~ (1) (1

1860 1(1) 1)

60~ 1(1) 1 (1)

3

el

B % H| |
4 ol

E S
B | BB | BR[| BB i)

84
s
0

B

4 92 (39
kil

Lol
SHHER®
il
il
StE>
e
H
ZEHEE

I
StERIt
SHER
Stk
-
I

(53
i3

=
TR
=5
R

#(9) Al (EgE) BpE

1680

=3
=
i
= oo
o

1700~ 2

—
wlo|o|lo|e|o|w|—]|—

o= |

1740 1 1

1800 1 1 1 3

1800~ 1 1

10~

20~

30~ 1 1

40~

50~ 1 1

1860 1

o
w

Fll
il

|G | B B | H
%

s | 35
| &

AREE:
|

2K
O] BB | BB | BB

HE

45

FiEsao
Starat
SHEH
StERE
e

v
bt
HEDY

i
St
SHE>

3

H
(A

=
TRHRT

il

63














































M oo BrEpEE
80—81HIZ

(EPNEE VA S (W2 BN

























































EINDEEHE 10 0 HIZ

(EPNEE VA S (W2 BN










































EINDEEHE 114 HIiZ

(EPNEE VA S (W2 BN












